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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/varphi
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3,6/cdot10^3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3,6/cdot10^9
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3,6/cdot10^6
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3,6
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/nu%3D50
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/omega
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec F%3D /infty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec F /succ 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec F /prec 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec F%3D 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3Dq(/varphi_1-/varphi_2)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/varphi%3D/frac{q}{4/pi/varepsilon_0 r}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{E}%3D-grad/varphi
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http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/cdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/cdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/cdot

Question 28

R=170 mdo §obsexmdols bsomMs 990m:mgdwe0s ©qbol fys®mbiosb, Gmadwol
9.9.9. ®mob 220 gm@l, dos [oboswmds 3o r=2mdL. 03mggm §Hgodo
250535¢00 ©9bol dsews. (39edo BsfgMgo dbmeme Mogbgo 395L9ol
LoBMLEGHOm. 059:1.23)

Answer:|

Question 29

356M3Mobs Bo@bm, ®mIwol 33909005 5 1. s 8 LA, ImMaglgdmEos 6.8
A9bs 06300l Bsabo@de 39w do. Bs®BmTo 535350 ©9gbol Loogs
5.5 5339M0. BsOBML LOdMEYY FoaboEMO 390l 35MOGEMMOs. Mol GO
Bo®BMby dmddgo dserol dmdgbEol Loowy (39wdo Rsfomgm Fbmerme
®oEbz0o 3950090l LobMLEGHom. doy. 1.234).

Answer:|

Question 30

39260&M® 3900 dMmmagLgdyer 20 LI LogMAol AsIEHIOBY, GMIgETdoi FoOL
4 533960 ©9bo Imddggdl 1.4 6 doews. Mol M®OL dopabodwmo 3gwols
0600993057 (960560 3580 B5360EMMO 06300l 39dEHMGOL oMM
LodMEYA0s) (39w 8o BfgMgm Fbmemo Gosbgzo 895890l LoBMLE M, Toy:
1.23).

Answer:|

Question 31

Mol MOl 3MFoL 1¥3000060YJ300L 9.8.d- SBBMWEHMMHO LOOY, M
30356 060019d30990Mdss 8 39660, beagom 3mFsdo ©gbol 33er0gdol Lobdstg
(dI/dt) ; 4 5/%0 ( 390380 Bsfigtgm dFbmeomo Gogbgo, doy: 1.23).

Answer:|

Question 32

5.1 m30 m31M0 §0b50mdOL godEsMdo, GmIgedog LobMLMmoMHO (33esO
@960 200, ©9bol s33coEMEYOHO 360336 mds 2 5339M0s. 2oblsBOZMgM
50 29935M30 5.0 Fmmbo 253mymaomo MoEgbo 9bgmyos. ( 3gwdo Rsfg®go
abmeemE Hogbgo 355090l LobLGHom. oy 1.2 ).

Answer:|



Question 33

290Mmm35¢gm LOAAWZMg 33O 6oL fiMgwdo (fMHgdo BsGwos
AbmEm© m3M6o [obsmmds), 0 9bol 33wo@Emo 3609369wmdss 10.
533960, berm dsdz0L 5. 3m@@Eo.( 39edo Bsfigmgom dbmermo Gogbzo
395L90L LoBMLEOm. dop 1.23 )

Answer:l



